
WITH CLOSE NIPPLE.

USE SHORT ENTRANCE FITTING

IN BACKSIDE OF HUB

1 1/2" BLANK ALUMINUM INSERT UNDER PLATE

INSTALL WEATHERPROOF GASKET

12"X27" CASE SIGN

12"X27" CASE SIGN

YOKE WITH 6" NIPPLE, NUT

1-WAY, 3-SECTION 12" T.S.

1 1/2" CLOSE NIPPLE

1-WAY, 3-SECTION 12" T.S.

PREFERRED METHOD 2-WAY T.S./CASE SIGN COMBINATION BELOW HUB - DETAIL

N.T.S.
A

1  1/2 " HUBS

BLANK & TWO 

ALUMINUM 

WITH 

CASE SIGN 

24"X30" 

12"X27" CASE SIGN

OUTSIDE SPIDER, TOP & BOTTOM

YOKE WITH 6" NIPPLE, NUT,

1-WAY, 3-SECTION 12" T.S.

1 1/2" CLOSE NIPPLE

1-WAY, 3-SECTION 12" T.S.

(ALTERNATE) 2- WAY T.S./CASE SIGN COMBINATION ABOVE HUB - DETAIL

N.T.S.
B

1  1/2 " HUBS

BLANK & TWO 

ALUMINUM 

WITH 

CASE SIGN 

24"X30" 

19"
IN BACKSIDE OF HUB

1 1/2" BLANK ALUMINUM INSERT

FITTING WITH CLOSE NIPPLE

USE SHORT ENTRANCE 

12"X27" CASE SIGN

GASKET UNDER PLATE

INSTALL WEATHERPROOF

SCREW WITH CUP POINT

¼" STAINLESS STEEL SET

SCREW WITH CUP POINT

¼" STAINLESS STEEL SET

 

3" MIN CLEARANCE

20"

MESSENGER SPAN

HEAD

SILICONE SEAL SIGNAL

16" MIN X 1 1/2" PIPE

1-WAY T.S./CASE SIGN COMBINATION ABOVE HUB - DETAIL

N.T.S.
C

BLANK & TWO 1  1/2" HUBS

24"X30" CASE SIGN WITH ALUMINUM 

BALANCE ADJUSTER (IF NEEDED)

ENTRANCE FITTING

T.S. TOP BRACKET

2-WAY, 12" SPAN WIRE

1  1/2" CLOSE NIPPLE

(LENGTH AS NEEDED)

1  1/2" PIPE NIPPLE

T.S. PIPE BOTTOM  BRACKET

2-WAY, 12" SPAN WIRE

12"X27" CASE SIGN

1-WAY, 3-SECTION, 12" T.S.

SCREW WITH CUP POINT

1/4" STAINLESS STEEL SET

3" MIN CLEARANCE

 

MESSENGER SPAN

16" MIN X 1 1/2" PIPE

1-WAY T.S./CASE SIGN COMBINATION BELOW HUB - DETAIL

N.T.S.
D

BLANK & TWO 1  1/2 " HUBS

24"X30" CASE SIGN WITH ALUMINUM 

T.S. PIPE BOTTOM  BRACKET

2-WAY, 12" SPAN WIRE

(LENGTH AS NEEDED)

1  1/2" PIPE NIPPLE

1  1/2" PIPE (LENGTH AS NEEDED)

T.S. TOP BRACKET

2-WAY, 12" SPAN WIRE

BALANCE ADJUSTER (IF NEEDED)ENTRANCE FITTING

12"X27" CASE SIGN

SIGNAL JOINER

1-WAY, 3-SECTION, 12" T.S.

1-WAY (ALUMINUM) & 1-WAY T.S./CASE SIGN COMBINATION ABOVE HUB - DETAIL

N.T.S.
E

BALANCE ADJUSTER (IF NEEDED)

ENTRANCE FITTING

T.S. TOP BRACKET

2-WAY, 12" SPAN WIRE

T.S. PIPE BOTTOM  BRACKET

2-WAY, 12" SPAN WIRE

12"X27" CASE SIGN

3-SECTION, 12" T.S.

1-WAY, NON-ALUMINUM,

SCREW WITH CUP POINT

1/4" STAINLESS STEEL SET

3" MIN CLEARANCE

 

MESSENGER SPAN

16" MIN X 1 1/2" PIPE

HEAD NOTES*

(ALUMINUM) SEE *ALUMINUM

1-WAY, 3-SECTION, 12" T.S.

1-WAY (ALUMINUM) & 1-WAY T.S./CASE SIGN COMBINATION BELOW HUB - DETAIL

N.T.S.
F

T.S. PIPE BOTTOM  BRACKET

2-WAY, 12" SPAN WIRE

1  1/2" PIPE (LENGTH AS NEEDED)

T.S. TOP BRACKET

2-WAY, 12" SPAN WIRE

BALANCE ADJUSTER (IF NEEDED)ENTRANCE FITTING

12"X27" CASE SIGN

SIGNAL JOINER

3-SECTION, 12" T.S.

1-WAY, NON-ALUMINUM,
SEE (*) ALUMINUM HEAD NOTES

1-WAY, 3-SECTION, 12" T.S. (ALUMINUM)

    FORMED ON THE VISOR.

    THE VISOR OR ON THE TABS 

    VISOR MOUNTING THAT ARE EITHER IN

9) PROVIDE TWIST ON SLOTS FOR

    FOR EACH SIGNAL INDICATION.

    ALUM. VISOR (MIN. 0.057" THICK),

8) PROVIDE A DETACHABLE, SHEET

    SUPPORTING PIPE.

    & BOTTOM TO RECEIVE 1 1/2" 

    HOUSINGS WITH A 2" DIAM. HOLE TOP

7) PROVIDE CAST ALUM. ALLOY

    CONTROL SIGNAL HEADS."

    ITE PUBLICATION "VEHICLE TRAFFIC

    TO THE REQUIREMENTS OF THE CURRENT

6) TRAFFIC SIGNALS MUST CONFORM

(*) ALUMINUM HEAD NOTES:

Michigan Department of Transportation

BRADLEY C. WIEFERICH, PE

DEPARTMENT DIRECTOR

    

 SECT

    SIG-311-A    
SHEET

 5  OF 1FHWA  APPROVAL

(SPECIAL DETAIL) 10/29/2024

PLAN DATE

            HEAD/CASE SIGN COMBINATIONS           

               BRACKETING FOR SIGNAL              

STANDARD PLAN FOR

Michigan Department of Transportation

BRADLEY C. WIEFERICH, PE

DEPARTMENT DIRECTOR

    SIG-311-A    
SHEET

 5  OF 2FHWA  APPROVAL

(SPECIAL DETAIL) 10/29/2024 

PLAN DATE

            HEAD/CASE SIGN COMBINATIONS           

               BRACKETING FOR SIGNAL              

STANDARD PLAN FOR

APPROVED BY:

APPROVED BY:
DIRECTOR, BUREAU OF DEVELOPMENT           

FIELD SERVICES        DIRECTOR, BUREAU OF 

 

 



HEAD NUT (4 REQUIRED)

BOLT 10-32 WITH FLAT WASHER & HEX 

(4 REQUIRED) STAINLESS STEEL HEX

HOLES FOR CONNECTION TO TOP OF T.S.

TO HUB PLATE (4 REQUIRED)

HOLES FOR CONNECTION 

CHASE NIPPLE

HOLE OPENING FOR 

TOP OF CASE SIGNBOTTOM OF CASE SIGN

SIGNAL JOINER

HOLE OPENER FOR

ENTRANCE HEAD

SECURELY INSTALLED

PLASTIC BUSHING TO BE

1/4" (MIN) STAINLESS STEEL SET SCREW WITH CUP POINT

LOCK NUT

LOCK NUT

1 1/2" RIGID METAL NIPPLE (LENGTH AS NEEDED)

WITH SET SCREW

1 1/2" THREADED METAL HUB PLATE

SIGNAL JOINER

(4 REQUIRED)

WITH FLAT WASHER & HEX HEAD NUT 

STAINLESS STEEL HEX BOLT 10-32 
1 WAY, 12"X27" CASE SIGN

ALUMINUM O.S. REINFORCING PLATE

1-WAY, 3 SECTION 12" T.S. SHOWN

CHASE NIPPLE

LOCK NUT

T.S. MOUNTED BELOW CASE SIGN - DETAIL

N.T.S.
I

  JOINER DETAIL - DETAIL

N.T.S.
J

ALTERNATE SIGNAL

SPAN WIRE MOUNTED T.S. BRACKET ASSEMBLY WITH 4-WAY CASE SIGN COMBINATION BELOW HUB - DETAIL

N.T.S.
G

ENTRANCE HEAD

SIGNAL NUT WITH RECESS DOWN

SECURELY INSTALLED.

PLASTIC BUSHING TO BE

SCREW WITH CUP POINT

1/4" STAINLESS STEEL SET

LOCK NUT

(SEE NOTE #4)

1/4" SET SCREW (TYPICAL)

1 1/2" RIGID METAL NIPPLE

WHEN REQUIRED)

(USE BLANK  OUT FACE

4- WAY, 12"X27" CASE SIGN

DETAIL BELOW

SEE SIGNAL ATTACHMENT

1-WAY, 3-SECTION 12" T.S.

BOTTOM PINNACLE

2-WAY FLAT STRAP

1 1/2 " LOCKNUT

IRON CROSS

1 1/2" CHASE NIPPLE

1 1/2" NIPPLE (METAL)

1 1/2" LOCKNUT

ALUMINUM CAP (TYP)

1-WAY, 3-SECTION, 12" T.S.

NOTE:

2-WAY T.S. SHOWN 

3-WAY T.S.. AND 4-WAY T.S.

SIMILAR

SIGNAL ATTACHMENT DETAIL - DETAIL

N.T.S.
H

1 1/2" ABRASIVE BUSHING

1 1/2" NIPPLE (METAL)

1 1/2" LOCK NUTS PER DETAIL

IRON CROSS

BRACKET

CASE SIGN BOTTOM

1 1/2" NIPPLE (METAL)

ALUMINUM CAP (TYP)

NOTES FOR ALL DETAILS:

1) ALL PIPE SIZES INCLUDE THREAD.

2) INSTALL PINNACLES IN ALL UNUSED

    OPENINGS IN HUBS, CROSSES &

    TEES.

3) 4-WAY CASE SIGN LEGEND TO BE 

    AS SHOWN ON PLANS.

4) DENOTES 1/4" STAINLESS

    STEEL SET SCREW (TYPICAL).

5) APPLY SILICON SEALANT TO THE

    FITTINGS ON THE TOP OF CASE

    SIGNS, AND THE TOP AND BOTTOM

    CONNECTIONS OF SIGNAL HEADS.

Michigan Department of Transportation

BRADLEY C. WIEFERICH, PE

DEPARTMENT DIRECTOR

    

 SECT

    SIG-311-A    
SHEET

 5  OF 3FHWA  APPROVAL

(SPECIAL DETAIL) 10/29/2024

PLAN DATE

            HEAD/CASE SIGN COMBINATIONS           

               BRACKETING FOR SIGNAL              

STANDARD PLAN FOR

Michigan Department of Transportation

BRADLEY C. WIEFERICH, PE

DEPARTMENT DIRECTOR

    SIG-311-A    
SHEET

 5  OF 4FHWA  APPROVAL

(SPECIAL DETAIL) 10/29/2024

PLAN DATE

            HEAD/CASE SIGN COMBINATIONS           

               BRACKETING FOR SIGNAL              

STANDARD PLAN FOR

APPROVED BY:

APPROVED BY:
DIRECTOR, BUREAU OF DEVELOPMENT           

FIELD SERVICES        DIRECTOR, BUREAU OF 

 

 



SIGNAL JOINER - DETAIL

N.T.S.
K

STEEL PLATES

1/8" THICK STAINLESS

NYLOC NUTS (3 REQUIRED)

CARRIAGE BOLT WITH 

1/4-20 X 2" STAINLESS STEEL

TYPICAL (3 REQUIRED)

0.234" (7/30") SQUARE HOLES

0.234" (7/30") RADIUS LOBE (TYP)

1/8" THICK STEEL PLATE

1.8756" (1 7/8") DIAMETER PLATE

    

 SECT

Michigan Department of Transportation

BRADLEY C. WIEFERICH, PE

DEPARTMENT DIRECTOR

    SIG-311-A    
SHEET

 5  OF 5FHWA  APPROVAL

(SPECIAL DETAIL) 10/29/2024

PLAN DATE

            HEAD/CASE SIGN COMBINATIONS           

               BRACKETING FOR SIGNAL              

STANDARD PLAN FOR

APPROVED BY:

APPROVED BY:
DIRECTOR, BUREAU OF DEVELOPMENT           

FIELD SERVICES        DIRECTOR, BUREAU OF 

 

 


